Al dizdler lA-usidl 4 war Hiyal 22 A asy ?

(A) QA war s5d B) Al war $s5d

€ .l 1 LAl wa D) 1 ¢ yfle-u A war
The dynamometer wattmeter can be used to measure —

(A) dc power only (B) ac power only

(C) ac and dc power (D) ac power of 1-phase circuit

2 dieeleql 3 quiRaAl M2 w15 G »1qA4A ARlHi AHl 2d V. A
sdqdi 214 8 ?
(A), w2 B) uleur
(©) (A) ¥ (B) 6 ® fm-j Mmzt

with it and is called
(A) Shunt
(C) Both (A) and (B)

3 A-umil s S-ga-e gl 300°d g4 3 Hel
(A) PMMC (lax.afl.)  AuE
(C) €2 AR
Which of the following instru
(A) PMMC
(C) Hot wire

(B) 800 W %+ 10 W12
(B) 1000 W a»t-l 8 «ms-a

(B) 800 W and 10 point
900 W and 10 points (D) 1000 W and 8 point

AT gu 21 Qe A3l 0y Hiell 2l WAl GualaL 4 sl ASH.
The loop earth wire used shall not be of size less than

(A) 14 SWG (B) 10 SWG
(C) 8 SWG (D) 16 SWG

BM-17T C\



6  Adls—asenil Sydldl ey
(A) qud A% 3RUA GAA K2
®) 4@ Szl 51538 Al W K
(©) ¥ Ay 2l 52

D) Gu~ll aum susidl AN\

The impurity atoms in semiconductors —

(A) injects more charge carriers @é«»"‘»\
(B) increase the kinetic energy of valance electrons i\» \}*‘*“‘
(C) reduces the energy gap '
(D) all of the above

7 Aellsmsseauioll v adl s2-2 QA 56 ool “@mﬂgﬁgﬂ 87

(A) s (B)x"mﬁga;tff“
© AdrefAant ) E\@ﬂ‘w&nm sloLd
Current flow in a sermconductors henomencn of
(A) drift ‘Blﬁ"usmn
(C) recombination ) all of these

8§ g da 3R4Bandl TExl ﬁ a r-)
The maximum e@tm wave rectification is —
(A) 40.6% (B) 100%
©) 812%\~_ \‘ . (D) 85.6% v

9 ol 3 Nufml du B,

el 2o ®) & ot
e‘%a (©) ﬁlﬂ {a D) =@ty
‘;“w‘,,j% : phase synchronous motor will have
;:1 \ m(&) no slip rings (B) two slip rings
~.\ (©) onme slip rings (D) three slip rings
A 10 A Al iz A5 20022 adly Gudlol 1S 43 8, AR d §1u B,

(A) =R €lds B) ¥ar di¥s
(C) =R s (D) »ilaz b
A synchronous motor can be used as a synchronous capacitor when it is
(A) under loaded (B) over loaded
(C) under excited (D) over excited

BM-27_C | 3 - [ Contd...
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11 izl @imss Asd wudl adHn Radi S 8.

(A) A& gle B) AL 2HAR

. ©) (A)wa (B) (D) Gunisll Sisuel
In altemators the standard practice, now a days is to have
(A) rotating field (B) rotating armature
(C) either of the above (D) none of the above

12 AdidR vuda- 2, AL DdlED w2z ARl §0pld AL Al

I
(A) 3.dlat. ¥ (B) WsRusU
©) 113 (D) e ¥
For parallel operation, A.C. polyphase alternators must have
(A) KVA rating (B) Excitation{
(C) Speed (D ag

| 13 S-gsast M2l Ns-llalt 23 21 S ey

oL s Feell ed ?
r In induction motor Ns is the synchronou
running speed of an induction

(A) Ns
(C) (1-S)Ns (D) (Ns-1)S

@oroqoL el 1Al - wuel €

® v

.1
(D);E

Qi 58 MR Aes 2ol du B ?

(A) udl2 W B) A ¥ 2R
©) daseu R (D) Gunidll Msuw AR
Which of the followmg motors is inherently self starting ?
(A) Split motor (B) Shaded-Pole motor
(C) Reluctance motor (D) None of these
BM-27_C ] 4 | Contd...
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16 udlz 2 -l sl ka DAl A sAsu- Qarle sl Aad

17 QAL w2 0Aamidl A dofleea £ldsa Wiee adly sl 21d v 4
87 T

(A) sl B) [e \?ﬁ;/k?
(C) =u=aR (D) di A\

In a D C generator the critical resistance refers to the resjggi?ce ;

(A) brushes (B) field

(C) armature D) load £\ ‘? ~

18 Al ¥zl du asRaAl GuleL -{limzﬂ ‘_ mé%?a&%u 2 B ?

/ (A) 4 A2, ud 2 gB')m as. diee S 5272
©) «f ey, Qe

(A) bw voltage, hlgh current/
(C) High voltage, low cugeﬂt N

19 QA w2 e s ¥
A) f& el slat\slza, ®) Be el aud s

-2l EL?. 5 (D) AR el AR s
i&l}mtor more than its full-load speed can be obtained

/?

sg the armature current
AN\ reasing the armature current

“'“"f,,f:‘;»ﬁ,ﬁgl}w gl uddl yrall amdl 58 eusd GWR wIRd S 8 ?
~\ (A) e #lsa-l (B) @8 52

(€) @l war ¥5R @) (B) 21 (©) oA
~ In a transformer routine efficiency depends upon

(A) Supply frequency (B) Load current
(C) Power factors of load (D) Both (B) and (C)

BM-27_C | 5 [ Contd...
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(A) %5 L aus-daL B) &5d 2oL ws-{L

(C) (A) =adl (B) D) (A) 1 (B)

Direction of rotation of a split phase motor can be reversed by reversing the Q
connection of —

(A) rumning winding only (B) starting winding only AN

(C) eithter (A) or (B) (D) both (A) and (B) . “’E‘% h




21 Bided Aesa 60 A2 1A GRS 10 AL 8. d-il Wl 204l

(A) 18 Al ®) 123
(©) 10 AL D) =AM
Find the base of the triangle whose area is 60cm? and height is 10 cm. ‘
(A) 18 cm (B) 12 cm

- (C) 10 cm (D) 8 cm J

23 5 [Bau %l Ha1adl 3is et 2 HlewAs-2+ udadl G~ AL eux

o3t B ? O
(A) 6 ye-t (B) 8 -ye-t
(€) 10 ye
What is the force if a 5 kg mass of a body produces
2 meters/sec? ?

. (A) 6 newtons
| (C) 10 newtons

23 s w50 2R+l Glus Yl 9

A A wud HP (3dls) 2l &
waterper minute to a height of 50 meters.

" (B) 90HP
(D) 12.5HP.

(A) 75HP _
(©) 100HP /

20ll 52 100 M2+t Rigat vied a-ud B, dL A 2580

B) 137.12 R

_ : D) 17321 IR

A\ : »n.. ah;llmakesanangle of 60° at a point 100 meters away from the
\ \ foot-of the hill. Calculate the height of the hill.

A) 17.321 meters (B) 137.12 meters

(C) 153.7 meters (D) 173.21 meters

A ada-d uRy 44 Al du dl dd Axsa 32g 99 ?

(A) 164 q.Hl.2 ®) 154 A2
C(©) 13432 (D) 124 A2
If the circumference of circle is 44 cm, then the area of the circle is ..........
(A) 164 cm? (B) 154 cm?
(C) 134 cm? (D) 124 cm?
BM-27 C | 6 [ Contd...

Downloaded from www.marugujarat.in — -




26 Wlan 1M 5dL M2 59 oIl -2 A 2ud 8 7

A) Al B) -k

(©) 2Ra (D) L8[t

Which heat treatment process is to be done to make the steel soft ?
(A) Normalising (B) Annealing

(C) Tempering (D) Hardening

27 oA el ik deuad e 4.0 Baval .2 i aaddl 2is 5 € cﬂ
yetd-l aadd steisidl deudsd yer Al
(A) 10 B.awsldl.2 B) 038 B2
©) 07 B2 (D) 05 B2
If ultimate stress of material is 4.0 kg per mm? and the factor T Sa
5, find out the safe working stress ?
(A) 1.0 kg/mm’ (B) 0.8 kg/mmé__
(C) 0.7 kg/mm? (D) 0.5 kg/mm?\ v~

28 UG W WML 1 ><2§-[3Z T@)

3 28
1— 2—- 50, 2
| Simplify - [ 4 105)

(A) 16
© 6

S0 W2 U B 7

(B) $den .
(D) sAlsedlél

29

(B) Flatness
(D) Connectivity

B Indian Institute of Standards, which symbol is used for third angle

| Qﬁ*’“‘ rojection ?
| Y:*§\ @ ——@—9— ®) —@é—

} BM-27 _C ] 7. | Contd...
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31

32

33

(A) 10W (B) 20W
© 40w (D) 80W
BM-27 C | 8 [ Contd...

h & SaGRs oeot (35 40W, 230V ) A 230V AR Selul Azl »ud 8.

RuRa R0RAAA A3 (BA Thread)-l A3 si-oi@ 324l 8 7
What is the thread angel of British association thread (BA Thread) ?

g 3°
A) 47 ®) 573
1° x°
© 73 oyass

BSF i, 2A2 A3l -UWBa sefle2 30mm 24 Y12 6mm 8.

IS : 4964 ¥l 3dl dd %y 53 ws ?
In BSF Thread, Square Thread's nominal Dia. is 30mm and
According to IS : 4964, how it can be represent ?
(A) SQ30x6
(C) S30x6

6 i 2 A ofl 3 % UMM drdril oi-ie
2 Ad dl Blodl R 2 2 AR 8.
el ?

Two wires A and B of the sa
(r) and (2r) respectively. T
(A) 1:

d1ength 1 and 2 / have radius
ir specific resistance will be
By 2:1 :

(B) 4100Q +20%
(D) 41 ohm

(B) 4100Q +20%

(C) 4100Q +20% ohm (D) 41 ohm

g5 AW gL Qudl WA viella d2dl ?
Two electric lamps each of 40W 230V are connected in series across 230V
supply. The power consumed by each lamp will be approximately.

Downloaded from www.marugujarat.in




36

37

38

39

(A) 45 B) ¥R
() 424l (D) %43R
The principle of dynamically induced e.m f. is utilised in a
(A) Choke (B) Motor
(C) Battery (D) Generator
BM-27 _C | - 9 | Contd...

AR AL Y A AR AMARHL FsaMl 20d B, 5V ey Axia™l

Yl WRYEML 2.5mA 532 Miuaril 20d dl es AnReqd Y g ?
Four equal value resistors are connected in parallel. 5V are applied across
the parallel circuit and 2.5mA are measured from the source. What is the
value of each resistor ?

(A) 4Q (B) 8Q
© 250 D) 110Q

as dalEzsa oleol 100W, 220V B3 1A B, A AL 110V WA A3e

2d dl d 22dl war Rl ?
The rating of an electric bulb is 220V, 100W. It is operatéd
power consumed by it will be

(A) 50W B) 75
(C) 90w D) 25
Al 54| oy w)A & ?

Which of the following relation is i
(A) P=17 I=, f%
@) y=+PR

“(air-gap) £IMA S A1l
(B) Jyu-dl e iy &
(D) aﬁ&ﬁ CER)

(B) prevent saturation
(D) decrease flux

sepllsell Gt Al em f -l Rigla-l Guallo ay B,

Downloaded from www.marugujarat.in




Bal5zs glesui s udl A5 su1 Yt @1 saldl usy ?

The energy stored in an electric field is given by the expression
1 2 1
—CV g —CV

(A_) 2 ) ®) 2

g i
—CV
© 3

$Uleni wdd] v -

(a) dld

(©) N - A2 (siy yRyy) |
While testing a capacitor with ohmmeter. i
but the final resistance reading is appreciably
is —

(A) leaky

(C) short — circuited

YOI sul 2iein gl Aad] sy ?
g current is given by the relation

(B) 0.637IM
M
®

The peaksvalue of a sine wave is 100V, Its average value is —

) @0.7V B) 1414V
(D) 100V

ARAiell s Ve @lgrnti saldl wsid el ?

(A) S-seu - B) Iafle-y

(C) O=3lzea dnseny (D) (A) @4 (B) o+
Which of the following is not expressed in ohms ?

(A) Inductance (B) Capacitance

(C) Inductive reactance (D) Both (A) and (B)

BM-27 C | [ Contd...
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46

47

48

49

\
As Al wAle-i war F52R7 541 RN gl ArAfRad 59 ws ? {,

(A) ke 214 A2isey (B) Whe-y A Sallsy
(C) sy v Sufla-y (D) Avise-y w7 e A ‘
Power factor of an ac circuit is defined as ratio of mﬂg&
(A) resistance and reactance (B) resistance and impedance gig@;”"«a}';k :
(C) reactance and impedance (D) reactance and resistance AN

VP gﬁ}
25 R-L-C Al usleni S=Fa daisz 10 o @17 30:0dq :ﬂﬂaev%w \ ®) 4
15 0 8. dl & WAe-l ga Nise-u 26 4l ? ‘;wm:\\/?

In R-L-C series circuit the inductive reactance is 10 Q and the ciz ?Qyif |
reactance is 15 Q. The total reactance is — ey
(A 25 Q (B) 50
©) 150 : (D) 18.03 Q 27“
s AHdlE 3 30 2R ARl YR, 3 AR a»t
qlezy 92 33 e ded)l y ?

In a balanced 3-phasé, star connected syste -n
phase voltages and their respective line

(A) 30° ) 1 )

(C) 60° D) —45¢

€35 15 0 HadL 281 %{ AN 200 dlee, 3 3o wen wd Ae B.
o e35 22 G2 AMI, ‘Leq T4 Y2l Al Y ), w3
W2 d 326l »ay %?&S Y

Three identical fést 15 Q are connected in star across a 400

V, 3 phase :_‘_a_ e of resistance in each phase of the equivalent
delta “Iéa would be
’N,ﬁ‘&
4\Q ¥ (B) 45

oY D) 750

gﬁ* "he relationship between the line and phase voltage of a delta connected
~ ”’ﬁ Nclrmit is given
L"“‘-:;‘;-, t\‘
' e Vph
O\ T\ At
"““‘«&\f& (&) ¥ =\3Vph ® =g
Voh
© 0 -roh ®) ¥ === |
BM-27 C | 11 [ Contd...
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51

52

53

54

YERAUR WA l-gudl Hsked sl 4 8 7
(A) ASA s oY LAl (B) ~32«i-il ANRL W2
(©) YAl 2l w2l we (D) c¥MI-L BRI 2

. The function of the moderator in a nuclear reactor is to

(A) stop chain reaction (B) absorb neutrons ¥
(C) reduce the speed of neutrons (D) reduce temperature \

yed] U wliddl W2l eidlg Yl e g4 Il S B ?

(A) 0.2 ol 0.4 HHHA B) 0.38 Al 0.78 W4
(C) 09l 0.38 Hds\- (D) Gurl &y %
Most of the solar radiation received on ea;th surface/li '
(A) 0.2 to 0.4 microns
(C) 0 to 0.38 microns

2seflyR Y9 elven mqg:ﬁel
(A) s dls ez
(€) RufHo And i

A nuclear power plant is; i

8l els w2

as a 1
(B) Stand by plant
(D) Base load plant

AL 2Yssl el Ay 8.
B) Asla H2R |
@) A HeR

na reasons for lov;r power factor in supply system is due to

(£ ) Induction motor (B) Synchronous motor

\\ @ ingle phase motor (D) DC motor

“aradlad did-id % w3dusid Yot

Percentage regulation of a transmission line is given by

U5 =VR) 100

@ | ®
(s —Vr) (Ve -Vs)
© -—Vg—xIOO D) -(Vg_—Vi)xlOO

BM-27_C | 12 [ Contd...
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56 ~R-umill 0 14 dior geulad ds-si qua @ ?
(A) oz 9d (B) sey 94
(©) s & (D) IDMT {4
Which of the following relays is used on long transmission lines ?
(A) Impedance Relay (B) Reactance Relay
(Cy Mho's Realy (D) IDMT Relay

57 2L #idRs sleedl] saqal sy WBsus quay D ?
(A) =2 wsn wA2 Rs-dllua WSso-
(B) s 7 ey 4
(C) & Sy 57 233 A9
(D) =4 slez w Yoflda Risa-n A
Large imternal fualts are protected by
(A) Mear price percentage differential protection
(B) Mbo's and ohm relay
(C) Hom gaps and temperature relay
(D) Easth fault and positive sequence relay

58 21Ut §2gil-2o] 3elldlaiet all 24 4 X
(A) €2 xR (B) “\¥s
(C) B-s2u+ 216y D). yd

type Instruments has iden

(A) Hot wire ' / Moving coil
(C) Induction type AL N D) Moving Iron
| 59 o izl Augmi oy, G 2Mlza) Ao s Fa uig [3g 204 B, dl
o AHE WA 3522 Aq] ¢ |
(&) &b ®) dRal l
D) ¥y

In the me: 5 1 St power by two wattmeters method, when the readings
ttmeters'are equal and opposite, it can be concluded that power

(A) RsalloL A5 3 RedloL Aowa-l Wil Wil sga
\ o BR £la A% 3 Rsdsuq vl wd wd ey 8
-\ © 84 (A) ¥4 (B)
@%&A F(D) WL AS A Reddlol Mol Al WA sy @
Scale of instruments will uniform it

A\ \
\ \ (A) deflecting torque varies directly as the deflecting angle
A\ (B) control torque varies directly as the deflection angle |
(C) both (A) and (B)
(D) damping torque varies directly as the deflecting angle

| BM-27 C | 13 [ Contd...
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61 LVDT a3 lAuisll g wdl asu 8 7
(A) Rudui-e (B) 43
() ¥dAs (D) Gunil 418 ya
Which of the following can be measured by LVDT ?
(A) Displacement (B) Velocity
(C) Acceleration (D) Any of the above

62 2A VAN G2l aua well quy & ?

(A) Mo+ 2qA4-) AR QU 8
(B) a1l dcaisvRil WA quay &
() was -
(D) GuR-L GuL M2

Energy consumption in propelling the train is requirec vhicl' of the
following

(A) Work against the resistance to motion
(B) Work against gravity while moving |
(C) Acceleration

(D) All of the above

63 J2 & dag de B,

(D) <2 (NOT)
(B) AND
(D) NOT

(B) NOT $s+
(D) OR §52-

(B) NOT function
(D) OR function

NOR function

A alidl NA-sisl 56 <dla au 8 ?

(A) ICTP . (B) ICDP
C)_gaxla (D) a+ 4y
Which switch used for the stair case wiring ?
(A) ICTP (B) ICDP
(C) Two way switch (D) One way switch
BM-27 C | 14 [ Contd...
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67

68

69

N

\\qo

BM-27_C | 15 [ Contd...

m& (A) 2R dR = wia- AR (B) sl diu =AY 532 d

PN %58+ Rrdu-i-l udlous ]

(A) ez Al w1 42 B (B) &dl dloL 1A af &
(©) »la ey W »dlRd 4dl D) Aal suuadi 4l 8
The width of depletion layer of the PN junctlon

(A) decreases with light doping (B) increase w1th heavy doping i 1
(C) is independent of applied voltage (D) is increase under reverse bias f% N

oflo 352151221 wiB2y2 Aagi-l Aua sa-ll Jedl du 8, A weld H7

4 50 Hz € d\ ? 7] |
(A) 100 Hz (B) 25 Hz @) i
(©) 50Hz (D) Gl 4 ual ﬁf\\ i

Ripple frequency of the output waveform of a bridge rectlﬁer when fed with - '
a 50 Hz sine wave is ; . '

(A) 100 Hz
(C) 50 Hz

dlell £-4523 ARUAL A B.....eeeeen.
(A) SN ax+ "a13al
(C) &3 "v213ql
Hollow conductors are employed to, s ..
(A) Reduce weight of copper

(B) Improve stability
(C) Reduce corona e
(D) Increase power tra r issi

&-than the largest resistor
allep than the smallest resistor
(Between smaller and larger resistor
None of the above

sElavdl WA -8 SR w2 ¥4 ?

(€ 3l siz d = Hur A (D) REARNSAN A = SUR Al
Transformer will operate at maximum efficiency when

(A) Copper loss = Iron loss

(B) Hysteresis Loss = Eddy current Loss

(C) Eddy current Loss = Copper Loss

(D) Hysteresis Loss = Copper Loss

Downloaded from www.marugujarat.in
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72

73

74

adarll eu 10 fle &y dl Asdl Asdl 224 ?

(A) 62.8 Hle: (B) 50 ¥{l2r

(C) 31.4 Hlex (D) il A ]
If a diameter of circle is 10 meters its circumference is

(A) 62.8 metres (B) 50 metres

(C) 31.4 metres (D) None of these

(Fizell Rate A 60°A) vl o-1d d% 2s5da B 213, FMazel- wol
5Hl2 2 8, dl FMarell dous dedl ?
(A) 6 Hlex | (B) 10 R

Oﬁ% 2

(C) 9 lr (D) 7—;— Y23

A ladder leans on a wall making 60° with ground if the,
metre away from wall, find ladder length.

(A) 6 metres (B)

(C) 9 metres D)

1 Mde oRIMR dae Beller ? )

Aa) 1B 91 )
(C) 1.61 Bl 100 341
1 mile is equal to how m ?

(A) 1 km (B) 1091 km
(©) 161 km (D) 100 km

sl Slsami 213 8. A dusi el
Gesrou-ll 3y 32¢] ?
(B) 0.016 HAs

8 D) 02 HlAss

Nass 0.02kg is fired by a gun of mass 100 kg. If the muzzle speed
all 1"80"m/s. What is the recoil speed of the gun ?
s (B) 0.016 nv/s
(D) 0.2 m/s

0.02 (3.1 o0y

loga _X
logh y

®)

(D) il A +dl

loga x

(B) Iogb—y

(D) None of these
16 ' [ Contd...
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76 A0 Al 2lled Wy g ?

(A) 841 Bl < 1189 Bl (B) 420 Bl x 594 Bill
L EE) 594 [l x 841 Buafl (D) 210 Bl x 297 Bl

Dimensions of AO size sheet are

(A) 841 mm x 1189 mm (B) 420 mm x 594 mm

(C) 594 mm x 841 mm (D) 210 mm x 297 mm

77 Welels s wmi quan 8 ?

(A) s+l &3 aidel vads-l sRMl
(B) CAM-L »siR¥l

(C) 3A2z+il aiseuril iLsR4l

(D) il 881 M2

Parabolic spiral is used in

(A) Shape of reflector of head light of car

(B) Shape of CAM
(C) Shape of manhole

(D) All of these

78 werl asll udve §%3
(A) =hluisgls
(C) wlisdla

(A) Orthographic ‘;}* ; (B) Oblique
(© PGWQ\Q\ \ (D) All of these
ﬁ.‘x \;y\j ;
6 3eed G B ?

5 i gle of hexagon is

80\ R e=1dudaadis su -usel oy B ?
(A) el B) Ausdal

(C) s1fureilal (D) WSO

If e = 1 the curve is known as

(A) Ellipse (B) Parabola

(C) Hyperbola (D) Cycloid

BM-27_C | 17 | Contd...
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81  wdagisi W2serA deedl Rallwi Reulsd sA us D ?
Half moon protector is divided into how many degrees ?

: (A) 180° (B) 270°

‘ ©) 310° (D) 360°

\
82 A Big A, B 23 E3l 2. YLl 642 &d ol iRt (2, b' % ¢
(A) XY as--l 6w (B) XY s+l «
(©) Xy dion i (D) 6w+ aw
Point A, B and E are above H.P, their respective eleva i
(A) Above XY Line
(C) On XY Line

83 dlMMIftil adIRL A wQUEsHl MY
(A) ©adl 9
(B) IR 4l
(C) udal auRl 42 v ug
(D) 2u WA :

With rise in temperatufe’t .
(A) decreases

L2 Ui ¥ B 21 5 16 Amp.d uats Albeni
£S5 WML %l AL e ?
of 16 Amp. divides between two branches in parallel of resistance

(A) 16.4 A, 169 A (B) 64A,96A
C) 0.6A 09A D) 82 A, 129A

85 40 watt-d ool 34 (823 wd Rudlowi AR B, A 40 watt=l Nou
100 watt=it olouell seacumi »1d dl [2-l »iGey2ui 3 s35 usd ?
(A) ]S\ U B) A0 Wi

(C) [s2 oofl % - (D) adl ¥

/ A 40 watt bulb is connected in series with a room heater. If now 40 watt
bulb is replaced by 100 watt bulb, the heater output will

(A) decreases (B) remain same
(C) heater will burn out (D) increases
BM-27 C | 18 [ Contd...
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86 516 old ulleni 2 i B, iR dls 1A oy Al 20d D 3 3 ani

qy 1y B,
(A) w4 B) 3l
(C) ©+ise (D) sy

Sparking occurs when a load is switched off because the circuit has high

(A) resistance (B) capacitance
(C) inductance (D) impedance

87 ~lA-unidl =8 alka Al B ? ™~
(A) ol &t dlsial B) 4dq -f-u"
(C) §4& "+l (D) oudly uiz-

/’%@h of the following is a vector quantity ?

(A) magnetic field intensity
(C) flux density

(A) s
©) s
Which of the following mate _
(A) Zinc : s
(C) Lead

89 >lex Mzl 3t MDA sl 22 § AMDL iad ?
@) W \\\ (B) &1 uig Aaz-y elfleni

200 (D) @l 43g YA Sdi ay
. “when checked with an ohm meter reads

(B) High but within tolerance
(D) Low but not zero

A\ 902 Wls Rgdouz g; Al 3R 1=0" iy w2 ddl3 ad ®.
W\ () e B) sic Al

" (©) @A wdle (D) e uWle
A capacitor with initial charge g, at t=0" acts as
(A) Voltage source (B) Current source
(C) Open circuit (D) Short circuit

BM-27_C ] 19 [ Contd...
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91 2r-ushl y3 A &g e A4 2 i 21 D,

(A) AW da (B) #=3a2oflo s32

(€) WAASER 532 w3 QA D) z=asiil sifeaq
No load test on a transformer is carried out to determine _ S
(A) _Copper loss (B) lllgnetmng current

(C) Magnetizing current and losses (D) Efficiency of transformer
92 2ugllRAL Y dlew YA WM au

(A) Il war #s2 (B) 33 war 352
(C) Q(lar wia 3se3 - D) A war 3R
A transformer can have zero voltage regulation at !
(A) Leading power factor ' (B) Unity power f3
(C) Lagging power factor (D) Zero power f

93 % SvssU M2 BRI qyRAUM =ua A
(A) AR BoaSBo yae BB (B) w3
(©) 2l A1l qu wy B (D) :
In case the airgap in an Induction motor R
(A) the magnetizing current of the rotofw
(B) the power factor will decrease /-,
(C) speed of motor will mcrm {(
(D) the winding losses will incfease\.

94 §-sust Nzl Aacldt g izet 2 ) :
(A) 2w dlg S 3) el Rous el
6 D) i enilks Gt zail

The crawling in an
(A) High ._..‘. \

D) A s32 sl vz ,ﬂm - _‘j‘-.# -y
Fleld WIndlng of a DC senes m !:' _7 .'
(A) to provide large flex :
(B) to reduce the use of insulat
(C) as it carries large load current
(D) in order to reduce eddy current

BM-27 C |




58 JR{l 122 W2 ed) 3+ v Ml quay B ?

A) > Her (B) S3yadla £M16-3 H2R ,_

(C) = ™R D) Re-elludl su6- MR

Which DC motor is general preferred for cranes and hoists ? f{f !

(A) Series motor (B) Cumulative compound motor é.,{f““:wi;k

(C) Shunt motor (D) Differentially compound motor %1,11:&%

e 56 WRRARMI w9 AsuT2s w2 21d B ? f{i} ;})

A) @B war 352 B) Y-l waz sR \'d \ O

(€) dlfat war 52 (D) Guidl A uat i;‘m%:\\fx

An alternator is said to be over excited when it is operating at \\” :;v

(A) Lagging power factor (B) Unity power facter~ Y \ ¢

(C) Leading power factor (D) Any of the these.’
T

98 -4l Mz Aes widfol el 3 % X\‘{?
(A) Wasdl B BR 4 dail] AR 14
(B) defi@ 215 R dal aiy B eds 2341 gy el 2
(©) ez = qlli qude + Qaidl ;
(D) =% us-{dor Hal-ni + Sl /_
Synchrenous motors are generally not Self s(é;} _betause
(A) the direction of rotation is not fixe

g-..
oo

59 o e 3 S-su-i slewl
(A) &4+l AEH QA
B) wada 4> bm\;%e{f &9 YAl a6l |

o %ﬁz gl : |
il AE adle wauell

fig : iﬁ“cfﬁction motor runs at a speed lower then the rated one,
st Ii g) fects is
Ap size fuses

Open circuit in the winding

3 28 sl el €4 dl, A s |

\ :\ ) Short circuit in the winding
N\ |
A\ 100} 2l wiar e Adle usa 3 U B ? |
\ N\ (A) &4 Sl ol quia 42 B) widd sidamd auiral
“C*\\‘i (C) &3+l wEBAA quRal (D) M+ @131 g1zl
<\ Reheat cycle in steam power plant is used to |
(A) Utilise heat of flue gases (B) Increase thermal efficiency !
(C) Improve condenser performance (D) Reduce loss of heat
BM-27 C | 21 [ Contd...
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101 % gaell Riga wiaz (dloref)) quriasdi=la d2ani »ud” - 2 -l as-ld
aoe WL Al 54 & 7

(A) [agd s B) @l
f (C). uyes : (D) M4z 352
The name of the technical term - “The rate at which the power is sold to
consumer: S
(A) Load s‘hading (B) Dispatch
(C) Tariff (D) Power factor
102 »elPis quAsAlBAA £3 5231 208 B A Al AN WA F522 L
19l €M,
(A) 0.7 Q3([a B) 05 a3

© 1 D) 08 Aoﬁm

(A) 0.7 lagging (B) 05 lag
(C) Unity (D) 08 la
103 s RSl W2zl Da-l vl '8 8. 2 =
AR Azl »ud o e+l ok (@) -
(A) 1500 .M. 2. (wiel ula B
B) 1000 R ML A, (vier U &
© 750 ARMLAN. (wia wky/F

(D) 3000 wR.MLAH. (wiarnld
The number of poles of a sy nous motor is '8'. If the motor is connected
to a S0 Hz AC supply, hé-.spe

(A) 1500 rpm
(C) 750 rpm

104 WaR %[laanvu .

weeil Al wan

8

(B) 132/11 Bell dle2
(D) 4001220 el qlaa

—(A), (B) 132/11 kV
)  220/66 kV (D) 400/220 kV

5 QAL Aell-mi S-eydle A A4,
(A) -l 0 Aelui Hsanil =uua. 8
(B) -l A AMidR Az g 8
©) w2 dle Afadl WA Aelui Asai »1d 8

(D) Guanidl isyet -l

The interpoles of a DC machine are normally connected,
(A) In series with the load

(B) In parallel with the load

(C) In series with the shunt field coil

(D) None of the above

BM-27_C | 22 [ Contd...
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106

107

108

109

Q.20 w2 2R 3 ¥ &l wiar 0L a8 B d A3 saL Al Ay ugli
A-iell 56 & ?
(A) e gles wd (B) o gles Ad

© A Wy wan Al (D) a4R W Ay i
The best way to start a large DC shunt motor is with,

(A) weak field (B) strong field

(C) full supply to the armature (D) higher supply voltage

24l dous-l ziflaq aid« (lomaie as-) - Rsdue w2 avi-y dd f
Al 24 uRea LRI 2 8 ? Y~
(A) Qs B) S-3se-y A\
©) dlorula (}Q%[lavet) (D) Guwe[l o4

is :
(A) Resistance (B) Inductance, \
(C) Capacitance (D) All of th 2\

o 4. zll a2 Hi2asl Ay sixR(ld el -x .

N: ! 2m 4 %

A) adl vi
or ope s‘ﬂﬁég normal operation, the

(C) udal %24l o WA
If the field eircuit of a DC shunt mo

speed of motor will, ~ NN\

(A) Increase L B) Decrease

(C) Remain the same_ " [—/(D) Motor will stop

A Al-SleA ¥l B A%es sl dlomaie) vor auRaMi 21
dl el W ,.

(A) °l &\1“;4: \ B) i e

(D) GuAHiYl AsuL
étf d current) of a synchronous motor is increased to a large
actor will be,

(B) leading
(D) none of these

Sllspni ssiots Ads (AR 4leds) 56 oot wioll 2l  ?
(A) sl dley -

B) s\ dlamars s
(©) auR dlayals A« (D) Q4R e A

A positive feedback in the amplifier ensures

(A) Low voltage gain (B) Low current gain
(C) High current gain (D) High voltage gain
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11 3l 8148 wadly,

(A) ) e9 (B) Q4R sl
(C) 9= ed (D) @i+id @9
The forward resistance of the diode will be,

(A) small (B) high
(C) zero (D) infinite

12 >3l ey s Rt (31 Wendldai) dieoni 3y an-el
s3] asy,

(A) »NRud (B) s
€) A D) SAnelsiuy

) An AC voltage can be converted into a uni-directi
/ (A) Oscillator

(C) Chopper
113 u3ania Anelsiyz-) »u6

The output voltage in an operati
voltage by an angle of :

(A) 90° B) 60°
€ 120° (D) 180°

is out of phase from the input

{

114 sl dloreoyg

4 {1l QY B (B) idRs »qAY q43 &y 8
' D) 2dlRs »qdy wiq dy &

& (B) High internal resistance
\ \Zerd_ internal resistance (D) Infinite internal resistance

R Sl - Hl2r (R-C) sues adle 031 WA At 4 eSu Be2r 8 ?
~\ (A) A Ll A (B) &l sugf-) A . o

© . deor (D) GwRHIAl sye -]
An R-C coupled circuit is a high pass filter for,

(4)  Pulsating D€ voltage (B) Low frequeicy AC voltagc
(C) DC voltage (D) None of these
BM-27 C | 24
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116 e $6 328 Mer (Swssuqt el #3aud-d A5 (eulda 23),

(A) vo Q4R €y 8 B) Yy du8

(C) &4 dls 25 %2d) &y & D) Gyl 215 yor -]
The starting torque of a single phase induction motor is,

(A) Very high - B) Zero

(C) Equal to full load torque (D) None of these

117 110111 4 saial yglt Yoo yeu 8.
The value of 110111 in decimal system is,
(A) 33 B) 22
(C) 55 D) 11

118 ARl #2z (S-ssaq 2r)ul WA AR 2523 Aaqqy W 2 '
saa 34 (dlarosaddl anal),

(A) 0l &l A

B) aud 4 A
(C) @idd &dl AsA
(D) 15 322533 IR sl ay AV HS
In order to achieve good power f;
flux density in air gap should

(A) Small
(C) Infimity

) Large
) More than 1.5 wb/m?

(B) 2d M3y €1y &
(D) Gy~ 44 sy

(B) Non-uniform scale
(D) All of these

LS\ (B) dldl
<\ (©) @4 D) G- A4 Asuel 4
I';l-a three core flexible wire, the color neutral wire is generally,
(A) Red (B) Green
(C) Black (D) None of these
BM-27 C | 25 ' [ Contd...
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121 Al 2 $asdlsa wa 4R Ael WPl auug -l ?

(A) &4 (B) »lda ydle AR

(C) daw €ler D)

Which of the following is not used in domestic electrical wiring ?
_~ (A) Fuse (B) Oil circuit breaker

(C) Lamp holder (D) Switch

il A sldd A g eald & 7
(A) s B) =la
/ C) &4 @) ¥z

o

The symbol shown here represents,
(A) Isolator

123

124 a2 B s w3l 8 ?
: , =@ 3490, 2Rl AR
(€ 50, AR AR ) dlaa 36, 68 A
\ —Which of supply is requnedfet%ﬂ_;ﬁ circuits ?
A\ \(A) six phase, six wire (B) three phase, three wire
~~{C) three phase, four wire (D) single phase, two wire

AT 5 afalu w2 (A A4 3 wenndl ¥32 1 8 7

(A) A8l #62, AR AR (B) =% 283, 221 AR

(€) dlra 38, & AR D) © 353, ® AR

What type of supply is required for a workshop ?

(A) three phase, four wire (B) three phase, three wire

(C) single phase, two wire (D) six phase, six wire
BM-27 C | 26 [ Contd...
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126 wied M2z 215 WA g wla du S ?

(A) R lomaie Halled .ﬁi

(B) @ A5 Yard

(€) M2 Uid 1A ¥ Ad 4 ﬁl

: (D) Gua-u au %

il W”hLat are the expectation from an ideal motor starter ?
(A) Limitation of starting current

(B) Improvement of starting torque
(C) Smooth starting of motor

(D) All of the above

127 |2 89l 24 wuRHl a8 7

A) »d apR . (B) -y2d U

(€) 53 wR (D) Guz-il U4 syst
/' A switch is always provided in which wire ? -

(A) Earth wire (B) Neutral wire!

(C) Phase wire (D) None of these

128 3-l4 @i 2 Y- ol A aidll slq.t-g, 5 48 ?
(A) dlz Guse sl uax 1A 4 M
(B) 363 dlamialsd vl »iadd HYAY N,
(€) R=d souel a4RA 2 .
(D) Gua-u U4 et vtt-ﬂ

(B) To provide low res
(C) To increase th
(D) None of these v
120 [ugd G S50 08
(A) Al \X B) Bddie xR
: (D) ALAAR
s \the unit of electrical energy ?
(B) kWh
— (D) Ampere |
|
~ 130 A A4l g adloL arr AL HsR -l ?
(A) A-we il @) R
Xf‘ \ ©) ezt adla D) sdle aadla
Q\Q}q/ Which of the following is not a type of domestic wiring ?
(A) Conduit wiring (B) Casing - caping wiring
(C) Delta wiring (D) Cleat wiring
BM-27_C | 27 [ Contd...
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131 A8 Sdsdlsa udlemi o dleelexnt dledl 2 Al Al 0 dl g ud ?
(A) @3 0y Ad sl 2 (B) de Her vig A1 adad
(C) sl dley viot s 8 (D) Guz-l U4l auL
If the voltmeter is connected in series with the load in a circuit, what will

) happen ?

/ "~ (A) load will not work properiy

(B) voltmeter will show wrong reading
(C) very less voltage across the load
(D) all of the above

132 A1 U4 sl g [ uetd dlo Guselsl wales ¢ quan 8 7
(A) dief (B) Hdldlad ¥la -
(©- dsi (D) Ay

Which of the following is used as an insulating mate 7‘_. :
appliances ? :

i (A) Copper (B) Silicon :
(C) Mica L
133 AL dad s ddol yel yaml 025 2
gl 56 8 7
(A) 4 &

~ (C) 25 >
/ The time of complete one cyg

(A) 4Hz 40 Hz
(C) 25Hz D) 2.5 Hz
134 : Hgl S2ai 24 dl, dd-u A RR
(A) usal %24 (B) usapl 234 ua |
(C) w8« (D) usail oug] Ul

between two point charges of Electnclty is doubled,
ce between them will be :
ameas, otiginal force (B) 1/2 of the ong_mal force
| (C) 1/4% ofthe original foce (D) double the original force

3) Az uiell o B A Hig-ll UsR
(C) & @2 Al »alesHl UsiR
(D) & A2 92 »idr _
The capacitance of a parallel plate capacitor does not depend upon :
(A) Area of the plates
(B) Material of the plates
(C) Insulating material between plates
(D) Distance between the plates

BM-27 _C | 28 [ Contd...
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136 R 50 MBHZA-U AL Fr(l2RA anicas Feai »0a L, AHA ARG 2
Walle-a (dlraRal) g 2d ?

(A) 1667 M5 (B) 100 WSHIUS

(C) 50 B D) 150 WSHEA

If three capacitors each of 50 nlicrofara;@p‘_mlected in parallel, the resultant
= capacitance will be : 3

(A) 16.67 Micro Farad (8) 100 Micro Farad

(C) 50 Micro Farad (D) 150 Micro Farad

137 Rga Bazd wBami s ad) gl el Al u 2R 8 7
(A) dlemas
B) dlamals ¥ AHA M2 R A 8 a
© A w4 (B) ol
(D) Guaniell sisuel il
The mass liberated during electrolysis depends on,
(A) The current
(B) The time for which current is passed
(C) Both (A) and (B)
(D) None of the above

138 W5 vadEsu A B3 A [gd es

(©) 1000 92

How much power will b Q S

~  (A) 100 Watt

(B) 10 Watt

(C) 1000 Watt = (D) 1 Watt .
A
139 s el ua:,iif\gl ia/cﬁéa, 800 A1z 8. A i Sl 10 sa5 UMl
21 dl ':‘\ék quadl ?
(a) 8 = ®B) 8

‘s marked as 230 V, 800 Watt. How many units of electrical

e energy are consumed if it is used for 10 hours ?
A Q0 (B) 8 '
=\ © (D) 8000
A Eb&t@m 92 A 581 seld 2w B
W b (a) dladedly Am ®) @r Rga 0%
1\ ™ (C) SMi Wa Foused (saa) @) ol sRA Gt Adl WY
S X{ Buchholz relay operates due to : 7
(A) Electromagnetic induction (B) Electrostatic charge
(C) Flux in the core (D) Gas generated due to heating
BM-27 C | 29 [ Contd...
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i Wwhen the power factor of load is -

141 % 362 Q) A4y A8 4 WHRY A5 e (5-24Q22) 36w ) 3
MA-uniell g speuy B 7
@A) »w@llidse (me) e () e (unwig) ez

©) Zud e s\ . D) i<l a1 §lee
.. If the insulator of one of the phase conductor fails, it is called -

(A) Unsymmetrical fault (B) Symmetrical fault -

(C) Triple line fault \ - (D) Line to line. fault

142 2 dl3 g é:wti ddl Asdla wa Az o 334) Gy dl, dluais ey
AN WA B 3 ol el wigr 523 - |
(A) 08 Qo &y B) 18y -

©) 08 dlfa &y ®) Yy &

For the same amount of active power drawn by the load: €Mt’is minimum

(A) 08 lagging
©) 08 leading

143 A dlogodly Qe vz vy 43 19 ), A Aes Sreszen:

(A) u8al Feg o 23d 8all 53l oy 48
©) udel sdi AR g 9 ) Ml sl g ud)

If the number of turns of 4,80 doubled, its self inductanee will be:
(A) same as A

(©) fourtimest' :

(B) double the original
(2) half the original

L O (sine) 49 ¥ Qlu dau da+] RMS value
lA-ustiefl 29 & 7

(B) ey Ay

it (D) 0707 x usun iy

> Valué of a sinusoidal AC Quantity is given by,

F: B (B) Vimax

@) 0707V,

144

M8\, 0Auniel] $3) g /yeis] A A -sella Aolserni wnureisal (w.dz2)
Tadld quay B 7 :

(A) (B) el el
©  33Mun (D) iy
Which of the following materials is commonly used as a moderator in a
nuclear reactor ? ;
(A) Lead . (B) Heavy water
(©) Uranium (D) Copper
BM-27 C | 30 [ Contd...
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146 dlojoidlu B8 20eRd M4l (S350 $223) wio A4 WA s R D,
(A) 2. wan B) 4. wan
(C) (A) 21 (B) ¢iq D) Ml visuel -l
An induction furnace can work only wath
(A) AC supply {B) DC supply %f\x
(C) Both (A) and (B) D) None of the above f%‘t}f:;
147 % w3 RaE (pollAa-)-u & B a2l Bad coual s o W¥g A dl Fu AN\
B ARl AL 1445 GRAML I I A Rded waR v, 7 NNV
(A) uddl %24 ¥ W} B B w23 ¢/ \\ &
©€) @8 - D) v ud wi wdl ve uk \\?
If the voltage across the combination remains constant, as we combine thk %«
resistors in parallel, the power consumption. /“\‘ \ /
(A) Remain the same (B) Decreases F &
(C) Increases (D) May increase of dec\tfe@a\,
148 9281 W22 (S50 *022) 1 Brrumi a1 dls A eflud 3¢ 05,
(A) 034l 05% Sy B. B) 20l 50% I:QSWXN
(©) 304l 50°% 4 B, (D) 3 A5% &

(A) 03 1to05%
(C) 30 to 50%

149 & il Maw 4 lsadal [Rdle
qlév&[ﬂtvh uER ALY dd A

In case of induction motors, the full load slip i§. ge hg%
M

81 (Rrgloyai-t a-ugilR)ui

de2l | =i f«\ SOAB)) wR [ @R
e (C) de [ e < D) GuHil Asurl Al
In case of pole mounte% thre}‘p tion transformers, the windings :

are generally
(A) Delta / Star A

\\V~ (B) Star / Star
A\ ’/ (D§ None of the above
R w2 w8,
Sdlgmals 3 Fnidl e3sll 2.0 9. Ef:‘tcl 2 MY B,
o4 ARY (RMS) 4 D,
Al dlavas 3 il sl 20200000, Baid 2 AMAAR @
A 4 AGYYR (RMS) Sl 20169 B,

150 {lA-uxidl

T 4 (2) oin w2l 8. (B) (1) 2 (2) ol Al 8.
Hiot (1) Ay 8. | (D) At (2) A 8.

) Sum of two AC currents each having RMS value 2A is 4A (RMS).
(2) Sum of two AC currents each having RMS value 2A is less than 4A

(RMS).
(A) Both (1) and (2) are wrong (B) Both (1) and (2) are correct
(E)_ Only (1) is correct (D) Only (2) is correct
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